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Q1.
The weights, in kilograms, of 20 new-born babies are shown below.


Find the     a.
median 


  b.
mode 




          c.  range.

Q2.
20 lightbulbs were tested to see how long they would last. The lifetimes of the bulbs are 

given below in hours.

1503
1469
1511
1494
1634
1601
1625
1492
1495
1505

1487
1493
1006
1512
1510
1599
1501
1486
1471
1598

The manufacturing company claims that the average lifetime of a lightbulb is 1500 hours.

Do you agree with their claim?


Q3.
A housing trust conducted a survey in a block of flats to find out how many people were 

living in each house. The results are shown below.


a. Complete the frequency table to show the results of the survey


b. Add a cumulative frequency column to your table


c. Write down the median.


d. What is the modal number of people in a flat ?

Q4.
The mean number of lengths of a pool completed by 8 members of a swimming team 

was 18.  Seven of the totals are shown below 


17

28

17

18

16

14

15


How many lengths were completed by the eighth member of the team ?


Q5.
The weekly takings in small store, to the nearest £, for a week in December and March 


are shown below



a. Calculate the mean takings for December and March.


 
 b. Comment on any differences.


Q6.
The stem-and-leaf tables show the marks of a class of pupils in two maths tests.





a.
For each paper, calculate the median and range.


b.
In which paper did the pupils do better ?
Name
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